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Immersion A network based digital game. This collection is not a binary of AEGIS or it's predecessors. Just a collection of all
the materials and work that went into this project. On the 15th of June, AEGIS will be migrated to a new network. The old
network will be kept online for a year in its current state. Once the migration is complete, everything will be removed from the
old server. May 15th, 2013 - UPDATE: All previous links to AEGIS have been removed. If you wish to visit the old collection,
please use the following links. Valley of the Queens. AEGIS 3.0. AEGIS was the inspiration for these games, but they are not
the same thing. This collection contains the contents of AEGIS 3.0, as well as its predecessor, AEGIS 2.0. Compilations First
aid kit. Pilot's AEGIS Manual. The original AEGIS manual, now in html and PDF form. As you can imagine, the PDF has some
very interesting issues. Omega Mobiles. A collection of programs written for Omega mobiles, the Omega 900 and Omega 2000.
Securite Ocean. A collection of programs written for a game that I never finished. Other Games Check out our free flash games
collection. Check out our free games collection. Q: Bounding variance of mixture of Gaussians We're given a data set consisting
of n independent observations from a mixture of two Gaussians with means $\mu_1, \mu_2$ and standard deviations
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$\sigma_1, \sigma_2$. Now, I want to bound the probability $P(\Mrac{\mu_1 - \mu_2}{\sigma_1 + \sigma_2} \geq t)$ as a
function of $t$. Le. what's the smallest $t$ for which this probability is smaller than 1? The problem is, I'm at a loss with how to
perform this bound. It seems like it should be easy, but I can't find a good reference. Any help is appreciated. A: In case the
mixture proportions are not important, consider the mixture of two Gaussians with given location and variance. Let $X\sim
\mathcal N 82157476af
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